

Volume 27, Issue 7, Page 79-85, 2024; Article no.JABB.117517 ISSN: 2394-1081

Performance of Different Varieties of Sponge Gourd (*Luffa cylindrica* L.) in Terms of Growth, Yield and Quality under Prayagraj Agro Climatic Condition

Himani Katre a++*, Samir E. Topno a# and Vijay Bahadur at

^a Department of Horticulture, Nai Sam Higginbottom University of Agriculture, Technology and Sciences, Prayagraj – 211007 (U.P.), India.

Authors' contributions

This work was carried out in collaboration among all authors. All authors read and approved the final manuscript.

Article Information

DOI: https://doi.org/10.9734/jabb/2024/v27i7968

Open Peer Review History:

This journal follows the Advanced Open Peer Review policy. Identity of the Reviewers, Editor(s) and additional Reviewers, peer review comments, different versions of the manuscript, comments of the editors, etc are available here: https://www.sdiarticle5.com/review-history/117517

Original Research Article

Received: 28/03/2024 Accepted: 02/06/2024 Published: 03/06/2024

ABSTRACT

The current study was conducted in the Zaid season of 2023–2024 at the horticulture department of the Naini Agricultural Institute Sam Higginbottom University of Agricultural Technology and Sciences in Prayagraj, Uttar Pradesh, in order to assess the performance of various sponge gourd varieties in terms of growth, yield, and quality under the agroclimatic conditions of Prayagraj. To evaluate the varietals of sponge gourds, the experiment was set up using a Randomized Block

Cite as: Katre, H., Topno, S. E., & Bahadur, V. (2024). Performance of Different Varieties of Sponge Gourd (Luffa cylindrica L.) in Terms of Growth, Yield and Quality under Prayagraj Agro Climatic Condition. Journal of Advances in Biology & Biotechnology, 27(7), 79–85. https://doi.org/10.9734/jabb/2024/v27i7968



⁺⁺ M.Sc. Scholar;

[#] Assistant Professor;

[†] Associate Professor;

^{*}Corresponding author: E-mail: himanilatre11@gmail.com;

Design (RBD) with 8 types and 3 replications. AVT-2/2020/SPGVAR-1, V2 (AVT-2/2020/SPGVAR-2), V3 (AVT-2/2020/SPGVAR-3), V4 (AVT-2/2020/SPGVAR-4), V5 (AVT-2/2020/SPGVAR -5), V6 (AVT-2/2020/SPGVAR -6), V7 (AVT-2/2020 / SPGVAR-7) and V8 (PUSA CHIKNI) are the varieties that make up this group. The variety AVT-2/2020/SPGVAR-5 was found to perform the best among the others in terms of growth metrics such as vine length (189.14 cm) and early maturity (55.33 days) for ripeness (the first fruit should be picked in 55.33 days), as well as yield characteristics such fruit length (28.98 cm), fruit diameter (3.70 cm), and fruit output per hectare (11.64 t/ha). The best results were also shown for the quality metrics TSS (3.14°Brix) and ascorbic acid content (10.66 mg/100g) in AVT-2/2020/SPGVAR-5.

Keywords: Maturity; performance of variety; fruit production per hectare; sponge gourd; TSS; ascorbic acid.

1. INTRODUCTION

The sponge gourd (Luffa cylindrica) is also known as Kalitori. The plant is classified under the family Cucurbitaceae and is commonly referred to, 2009). L. cylindrica fruits are green, large, cylindrical in shape, and crawl on other materials. According to a nutritionist, sponge accurately the indigenous area of Luffa species. They have a long history of cultivation in tropical countries of Asia and Africa. Indo-Burma is reported to be the center of diversity.

Luffa is a member of the cucurbitaceous family and is sometimes referred to as a sponge gourd, loofah, vegetable sponge, bath sponge, or dish cloth gourd. Nowadays, Malaysia, Korea, Japan, Taiwan, and China cultivate sponge gourds extensively for medical purposes. According to Arya and Prakash (2002), the crop is extensively farmed in Kerala, W.B., U.P., Bihar, and Orrisa in India. Sponge gourd is cultivated on over 2597 hectares in Chhattisgarh, with an annual production of 23447 MT (Anon2017), mostly in the districts of Mahasamund, Kanker, Raigarh, Korba, and Koria.

The soft fruit that is used as a vegetable boosts hunger when eaten and is readily digested. The juicy, fresh fruit is 94% moisture-containing and has a high molecular content of 16 calories per 100g, with 9.5g of carbs, 2g of protein, 0.25g of fat, and 10ug of vitamin A. In addition to being a vegetable, the mature, dry fruit is composed of a stiff, dense network of cellulose fiber (sponge) encased in a hard shell. This fiber is useful in the automotive and glassware sectors as filler and for cleaning [1].

The sponge gourd is a monoecious vegetable that climbs every year. Fruit size varies greatly, ranging from a few centimeters to one meter. Its shape and color are also very variable, with multiple genes controlling these complex features (Beyer et al., 2002; Zalapa et al., 2006). In any initiative to improve crops, genotype evaluation is regarded as a necessary first step in determining the current level of variability. The current study was conducted to collect data on genetic variability, heritability, correlation, and path analysis for several sponge gourd traits in order to pursue an efficient breeding program.

For sponge gourd farming in Prayagraj to be effective, soil improvement techniques, disease and pest control, and water management are essential. The climate of Uttar Pradesh has given rise to the prominence of a few native types. Many high-yielding kinds and, according to estimates, a variety of sponge gourds are available in the market. Prayagraj's agroclimatic circumstances indicate that sprout gourd can be produced more effectively and yieldily. The current study on the varietal evaluation of Sponge gourd cultivars in Prayagraj agroclimatic conditions was conducted in light of the aforementioned facts.

2. MATERIALS AND METHODS

The goal of the current study was to comprehend how different types of sponge gourds develop, generate fruit, and vary in guality in the Prayagraj agroclimatic conditions. The investigation was conducted in the Jan-Jun 2023 season at Central Horticultural Research Farm (HCRF), Department of Horticulture, Naini Agricultural Institute, Sam Higginbottom University of Agriculture, and Technology Sciences (SHUATS), Prayagraj. The investigation's materials and methodology are described in detail.With eight variations and three replications. the experiment was set up in a randomized block design. Varieties name of V1 (AVT-2/2020/SPGVAR-1), V2 (AVT-2/2020/SPGVAR-2), V3 (AVT-2/2020/SP GVAR-3), V4 (AVT-

2/2020/SPGVAR-4), V5 (AVT-2/2020/ SPGVAR -5), V6 (AVT-2/2020/ SPGVAR -6), V7 (AVT-2/2020/ SPGVAR-7) and V8 (PUSA CHIKNI) are the varieties that make up this group. At various growth phases, observations were made regarding quality parameters like TSS and vitamin C content as well as vine length, days to flower emergence, fruit length, and yield per plot. The Fisher and Yates method was used to statistically analyze the data.

3. RESULTS AND DISCUSSION

3.1 Vine Length (m) and Number of Branches Per Vine

There were substantial differences between the varieties in the data on the length of the vine and the number of branches per vine (Table 1). AVT-2/2020/SPGVAR-5 showed the maximum vine length of 189.14 cm among the several types, while AVT-2/2020/SPGVAR-3 showed the least vine length of 120.99. The variation in vine length between types can be attributed to a combination of environmental factors and genetic makeup. Superior vine elongation performance is likely to be exhibited by varieties that have been carefully selected for longer vine length or that are genetically suited to particular environmental circumstances. Similar results were noted in studies on sponge gourds by Pongen et al. [2], bottle gourds by Quamruzzaman et al. [3], pointed gourds by Ara et al., [4] and bitter gourds by

3.2 Days to First Male and Female Flowering and Days to First Fruit Harvest

The days until the first male and female flowers appeared, as well as the first fruit harvest, varied greatly between varieties, according to the data (Table 1). The AVT-2/22020/SPGVAR-5 variety showed the lowest days to first male flowering (30.78 days), however the AVT-2/22020/SPGVAR-3 variety showed the highest days to first male flowering (39.28 days). AVT-2/2020/SPGVAR-3 showed the lowest days to first female flower emergence (33.69 days) among the several types, while AVT-2/2020/SPGVAR-5 showed the most days to first female flower emergence (49.05 days). AVT-2/2020/ SPGVAR-5 was used to measure the minimum number of days required to harvest fruit (55.33 days) and the maximum number of days required to harvest fruit (71.92 days) for each variety. AVT-2/2020 / SPGVAR-3.

Genetic and environmental variables can explain why certain varieties do better than others in terms of flowering and maturity earlier. Varieties that have shorter vegetative growth stages or early maturation genes, for example, show rapid blooming initiation and can subsequently These maturing. genetic features can also encourage early flowering. Flowering time can also be influenced by environmental variables temperature, as photoperiod. and nutrition availability. Varieties that have been deliberately cultivated for early flowering or those that are genetically.

3.3 Number Fruits Per Plant, Fruit Length, Fruit Diameter and Fruit Weight

The information on fruit length, diameter, weight, and quantity of fruits per plant is displayed in Table 2. Using AVT-2/2020/SPGVAR-5, the maximum number of fruits per plant (25.3 fruits) and least number of fruits per plant (14.28 fruits) were observed among the various types. 2020/AVT-2/SPGVAR-3. Genetic and environmental factors may play a role in why one variety performs better than another in terms of vieldina more fruits per plant. AVT-2/2020/SPGVAR-5 showed the largest fruit length of 28.96 cm among the several kinds. AVT-2/2020/SPGVAR-3 while showed the smallest fruit length of 16.76 cm. AVT-2/ 2020/SPGVAR-5 showed the largest fruit diameter of 3.70 cm among the various types, while 3.11 cm was the minimum. 2020/AVT-2/SPGVAR-3.

AVT-2/2020/SPGVAR-5 showed the highest average fruit weight of 51.45 g among the various types, whereas AVT-2/2020/SPGVAR-3 showed the lowest average fruit weight of 38.38 g. Genetic and environmental factors can be related to a variety's superior performance over another in terms of enhanced fruit length, diameter, and weight [5-9]. Larger and longer fruits can be produced by cultivating fruit varieties with genetic features that encourage greater cell division and elongation. The ideal temperature, amount of sunshine, and availability of nutrients are examples of environmental variables that might affect fruit growth and development. Fruit length, diameter, and weight may be better in varieties that are genetically predisposed to produce longer and thicker fruits or that have been carefully cultivated for them. Similar findings were made before by Pongen et al.

Varieties Varieties details Vine No of Days to Days to first Days to						
Notation		length(cm)	Nodes	first male flowering	Female flowering	first fruit harvest
V1	AVT-2/2020/SPGVAR-1	150.28	33.84	34.61	38.84	56.65
V2	AVT-2/2020/SPGVAR-2	128.29	35.76	33.43	35.55	60.32
V3	AVT-2/2020/SPGVAR-3	120.97	29.14	39.28	33.69	71.92
V4	AVT-2/2020/SPGVAR-4	161.60	34.38	36.76	37.57	60.06
V5	AVT-2/2020/SPGVAR-5	189.14	40.12	30.78	49.05	55.33
V6	AVT-2/2020/SPGVAR-6	140.87	35.13	32.98	36.48	58.95
V7	AVT-2/2020/SPGVAR-7	170.76	31.08	37.82	33.11	61.19
V8	Pusa Chikni	134.82	38.43	34.11	34.10	68.17
'F' Test		S	S	S	S	S
SE (d)		0.46	1.14	0.79	1.43	0.93
C.D. at 5%		0.84	2.84	3.83	3.77	4.43
C. V.		5.43	4.91	0.58	1.74	8.93

Table 1. Shows the performance of various sponge gourd varieties in terms of quality and yield metrics

Table 2 shows the performance of various sponge gourd varieties in terms of quality and yield metrics

Varieties Varieties Number	Fruit	Fruit	Fruit	Fruit	TSS	Vitamin C
Notation details of fruits	Length	diameter	weight	yield per	[°Brix]	content
per plant	(cm)	(cm)	(g)	Hectare (qt/ha)		(mg/100g)
V1 AVT-2/2020/ 19.5 SPGVAR- 1	24.01	3.61	42.01	6.86	2.00	6.00
V2 AVT-2/2020/ SPGVAR-2 20.6	25.00	3.80	46.22	10.83	1.71	10.00
V3 AVT-2/2020/ SPGVAR-3 14.2	16.76	3.11	38.38	6.04	1.50	7.66
V4 AVT-2/2020/ SPGVAR-4 18.7	24.00	3.34	49.37	9.83	1.50	9.00
V5 AVT-2/2020/ 25.3 SPGVAR-5	28.98	3.70	51.47	11.64	3.14	11.55
V6 AVT-2/2020/ 16.4 SPGVAR-6	22.89	3.20	50.81	9.57	2.14	7.36
V7 AVT-2/2020/ SPGVAR-7 22.4	25.67	3.30	48.38	8.44	3.10	9.00
V8 PUSA CHIKNI 19.6	20.41	3.44	42.12	7.67	2.13	11.00
'F' Test S	S	S	S	S	S	S
SE (d) 1.30	1.17	0.61	1.58	0.75	0.24	0.69
C.D. at 5% 1.08	1.08	0.45	10.02	0.30	0.40	12.30
C. V. 0.24	1.20	0.06	0.60	1.96	7.54	2.17

C -	Dertieuler	11	Ouromtitur	Dete/Unit	
Sr	Particular	Unit	Quantity	Rate/Unit	Cost (KS/ha)
Α.	Land Preparations	Hrs.	5	900	4,500
1	Ploughing	Hrs.	4	800	3,200
2	levelling with cultivars	Labour	10	300	3,000
В.	Fertilizers, manures, and seed				
1	Cost of seed	Kg	1.5	3500	5,250
2	Farmyard Manure	Tones	25	800	2,0000
3	Urea	Kg	458	6.5	2,977
4	DAP	Kg	217	24.4	5,294.8
5	MOP	Kg	166	18.5	3,071
6	Labour for Seed Sowing	Mandays	10	300	3,000
7	Labour for fertilizer application	Mandays	15	300	4,500
8	Gap filling	Mandays	10	200	2,000
C.	Intercultural Operations	-			
1	Weeding and Hoeing	Mandays	15	300	4,500
2	Insecticides and Pesticides	-	8	800	6,400
3	Neem Oil		4	400	1,600
4	Spraying of Chemicals 6 times	Mandays	15	300	4,500
D.	Irrigation	-			
1	Irrigation	Labour	24	300	7,200
2	Tuber well Charges	Irrigation	8	500	4,000
F.	Harvesting	-			
1	Mandays	Labour	30	300	9,000
2	Transportation		L.S		8,000
3	Rental value of land	Months	3	2000	6,000
4	Supervision charges	Days	90	150	13,500
			Total Cost	Cultivation	1,21,493
			of		

Table 3. Cost of cultivation of	of	sponge	gourd
---------------------------------	----	--------	-------

3.4 Fruit Yield Per Hectare (qt/ha)

the different Varieties maximum Amona average fruit yield per vine (11.64 qt/ha) was observed in with AVT-2/2020/SPGVAR-5 and minimum average fruit yield per hectare (6.04qt/ha) was observed in AVT-2/2020/SPGVAR-3 (Table 2) The better performance of one Variety over another in terms of enhanced fruit yield can be attributed to genetic factors and environmental conditions. Varieties with genetic traits that promote higher flower-to-fruit conversion rates. increased branching, or enhanced reproductive capacity can result in a greater yield of fruits. Additionally, environmental factors such as pollination efficiency, availability of nutrients and water, and optimal growing conditions can significantly influence fruit Varieties that are production. genetically predisposed or have been selectively bred for higher fruit yield can demonstrate superior performance in terms of overall fruit production per plant. The findings were in accordance with earlier reports of Ramya et al. [10].

3.5 T.S.S. [°Brix] and Vitamin C Content (mg/100g)

Among the different varieties maximum Total Soluble Solid (43.14°Brix) was observed with AVT-2/2020/SPGVAR-5 and minimum Total Soluble Solid (1.50°Brix) was observed AVT-2/2020/SPGVAR-3 [11-15]. Among the different varieties maximum Ascorbic acid content (11.55 mg/100g)was observed with AVT-2/2020/SPGVAR-5 and minimum Ascorbic acid content (7.66 mg/100g) was observed AVT-2/2020/SPGVAR-3 [16-20]. The better performance of one variety over another in terms of better Ascorbic acid and TSS content can be attributed to genetic factors and environmental conditions. Varieties with genetic traits that promote higher Vitamin C synthesis and accumulation in fruits can result in increased acid content. Additionally, Ascorbic environmental factors such as sunlight exposure, temperature, and nutrient availability can influence the production of Vitamin C in fruits. Varieties that are genetically predisposed or have been selectively bred for higher Ascorbic acid content may demonstrate superior performance in terms of producing fruits with a better concentration of this essential nutrient [20-26].

4. CONCLUSION

Based on the experimental results shown above, it can be inferred that the AVT-2/2020/SPGVAR-5 variety outperformed the others in terms of yield factors such as fruit diameter, length, and early flowering and maturity, as well as growth metrics such as vine length. It performed highest for TSS and vitamin C content as well as quality metrics.

COMPETING INTERESTS

Authors have declared that no competing interests exist.

REFERENCES

- 1. Oboh IO, Aluyor EO. *Luffa cylindrical* An emerging cash crop. African Journal of Agricultural Research. 2009;4(8):684-688.
- 2. Pongen S, Kerketta A, Bahadur V. Evaluation of different Varieties for growth, yield and fruit quality in sponge gourd (*Luffa cylindrical* M. Roem). The Pharma Innovation Journal. 2021;10(11):1470-1472.
- Quamruzzaman AKM, Rahman MM, Akter L. Performance of bottle gourd lines in Bangladesh condition. Annals of Biological Sciences. 2017;5(1):5-7.
- 4. Ara N, Moniruzzaman M, Rahman KS. Performance of hybrid lines of pointed gourd (*Trichosanthes dioica* Roxb) for yield and yield attributes. Bangladesh Journal Agricultural Research. 2018;43(3):383-393.12.
- Reddy MV, Patil MG, Suneetha C, Kandpal K. Evaluation of sponge gourd varieties and Varieties for yield and related traits. International Journal of Current Microbiology and Applied Sciences. 2019; 9:108-115.
- 6. Bagchi I. Food for thought Green 'Karela for Red china''The Times of India Archived from the orginal; 2013, May 24.
- Bhavanasi S, Bahadur V, Kerketta A, Prasad VM. Performance of bottle gourd (*Lagenaria siceraria* L) varieties for growth, yield and quality. International Journal of Plant and soil science; 2022.
- 8. Bouyoucos GJ. Hydrometer method Improved for making particle size analysis

of soils Agronomy Journal. 1962;54;464-465.

- 9. Directorate of Economics and statistics (2020-2021) Ministry of Agriculture &Farmers welfare (DAC&FW), Government of India 2020-2021.
- Ramya B, Kerketta A, Topno SE. Evaluation of different Varieties for growth and yield attributes of bitter gourd (*Momordica charantia* L.) in Prayagraj Region. International Journal of Current Microbiology and Applied Sciences. 2020;9(12):1008-1012.
- Mazali IO, Alves OL. Morphosynthesis: High fidelity inorganic replica of the fibrous network of loofa sponge (*Luffa cylindrica*). Anais da Academia Brasileira de Ciencias. 2005;77(1):25-31. Available:https://doi. org/10.1590/S0001-37652005000100003
- Nurrohman E, Zubaidah S, Kuswantoro H. Effect of nitrogen dosage (N) on morphology of soybean strains (*Glycine* max (L.) Merr) Hold Bemisia tabaci. Bioedukasi Universitas Jember. 2018;15(2):13-17.
- Olaniyi JO, Adelasoye KA, Jegede CO. Influence of nitrogen fertilizer on the growth, yield and quality of grain amaranth varieties. World Journal of Agricultural Sciences. 2008;4(4):506-513.
- 14. Partap S, Kumar Á, Sharma NK, Jha KK. *Luffa Cylindrica*: An important medicinal plant. Journal of Natural Product and Plant Resources. 2012;2(1):127-134.
- 15. Prasad PH, Mandal AR, Sarkar A, Thapa U, Maity TK; 2009.
- Fisher RA, Yates F. Statistical tables for biological, agricultural and medical research. Oliver and Boyd, London. 1936;143.
- Rathore JS, Collis JP, Singh G, Singh KR, Jat BL. Studies on genetic variability in sponge gourd (*Luffa acutangula* L. (Roxb.)) varietiess in allahabad agro-climate condition. International Journal of Current Akhila et al.; Int. J. Environ. Clim. Change. 2023;13(10):1194-1199. Article no.IJECC.105127 1199 Microbiology and Applied Sciences. 2017;6(2):317-338.
- Haque MM, Uddin MS, Mehraj H, Uddin JAFM. Evaluation of snake gourd (*Trichasanthes anguina* L.) test Varieties comparing with four popular checks. International Journal of Applied Science Biotechnology. 2014;2(4):525-528.

- 19. Sangma DA, Prasad VM, Wamiq M. Evaluation of sponge gourd (*Luffa cylindrica* L.) for fruit yield in Prayagraj Agro-climatic conditions. Journal of Pharmacognosy and Phytochemistry. 2021;9(6):1954-1956.
- 20. Phan TT, Truong HTH, Nguyen SCH, Nguyen TTT, Tran TV. Evaluation of promising sponge gourd (Luffa cylindrical) accessions in summer-autumn season 2014 Thien in Thua Hue. Journal of Agricultural Science and Technology A and B & Hue University Journal of Science. 2015;5:508-514.
- 21. McKay JW. Chromosome numbers in the Cucurbitaceae. Botanical Gazette. 1930;89:416–417.
- 22. NHB. nhb.gov.in/statistics/2020-21. Area and Production of Horticulture Crops- All India. Visited on 08/12/2022.
- Uddin AFMJ, Tahidul MI, Chowdhury MHN, Shiam IH, Mehraj H. Evaluation of bottle gourd (*Lagenaria siceraria*) to growth and yield. International Journal of Biosciences. 2014;5(12):7-1.

- Gopal R. Bahadur V. Topno SE. Effect of 24. Plant Growth Regulators on Growth, Fruit Yield and Quality of Kharif Season Bitter Gourd (Momordica charantia L.). Journal of Advances in Biology & Biotechnology. 2024;27(6):293-301. Available:https://doi.org/10.9734/jabb/2024 /v27i6888
- 25. Rajashree V, Deepanshu. Growth and yield of bitter gourd as influenced by gibberellic acid and naphthalene acidic acid (*Momordica charantia* L.). International Journal of Plant & Soil Science. 2022;34(21):809–817. Available:https://doi.org/10.9734/ijpss/2022 /v34i2131335
- Iqbal M, ul Haq Z, Malik A, Ayoub CM, 26. Jamil Y, Nisar J. Pre-sowing seed magnetic field stimulation: A good option to enhance bitter gourd germination, seedling growth and vield characteristics. **Biocatalysis** and Agricultural Biotechnology. 2016, Jan 1;5:30-7.

© Copyright (2024): Author(s). The licensee is the journal publisher. This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history: The peer review history for this paper can be accessed here: https://www.sdiarticle5.com/review-history/117517